ERIOEE DEEAT SR 7 7RFA7IILI7T—REFIEMX RIEFEER
GEBBIAY . REITHADELEEEE. 2BEORE. TVF U RAT7H—RARICKYZ L BFERE

BifER [4H26H(K).27H(®)
BED—X |[REELBIIILTIO—X(EHE)  6,120Yards-Par72
SHXEHE|1348
i g = 1HH 2B H
[[=Liva K4 FEHZI—X = — = — TOTAL
1 EH f158 IFERSF 37 40 36 38 151
2 AR ) IFERSF 37 41 37 39 154
3 IMNITTE g1l 39 40 39 39 157
4T Al EB =FH/1l 40 40 39 40 159
AT KH B2 2 EILE 38 41 41 39 159
XULE, 52 %KE
AT TiE Eif WFEEEE 39 40 40 40 159
1T B =F81U 41 41 41 38 161
7T F+)I B L2EELE 41 39 40 41 161
7T H F#& i 39 39 42 41 161
10 Sl [EF] IFERF 41 37 43 41 162
1T el IF WEHZRMH L E 46 40 39 39 164
1T iy R win WFEHEMAE 43 43 37 41 164
1T EE & e EILE 37 41 38 48 164
XL E.13%AHAIZHEH
2t B BEE A=L1H R 37 39 44 44 164
feE 1&Ei& B A=L142 43 43 39 40 165
X EIFICEKYE2HAEH
15T FE EX ERNG 44 42 39 40 165
15T INRR i WFEE EBE 40 45 39 41 165
15T EH FE WFFHEMR LR 45 40 38 42 165
15T IR IFE 2L ELE 40 42 41 42 165
15T A BIE N 42 40 41 42 165
15T RIFEEKA WFFHEMKR L E 40 41 41 43 165
22T FREX A=L1) R 45 42 39 40 166
22T 5 B IFERSF 41 41 44 40 166
24T EXR AR IR 42 46 37 42 167
24T 120 BE INES 44 40 41 42 167
24T O o Z2EEILE 44 40 39 44 167
24T Al #= &1l 41 42 41 43 167
28T HO f1E IFER3F 41 43 43 41 168
28T E% ZI1E B 42 41 41 44 168
30T ik A =N 41 43 44 41 169
30T hi B =F81U 41 42 41 45 169
32T G EE 2 EILE 41 46 41 43 171
32T WA B\ WFFHEMK L E 42 41 42 46 171
34 B)Il F0i WFEEEE 43 44 41 44 172
35 SIS IFERF 41 43 45 44 173
36 Al #8K WFFHEMKR LR 43 48 40 43 174
37T T B IR 50 42 43 40 175
37T I E X WFEH EBE 44 43 44 44 175
39T ® B WFFHEMKR L E 49 44 40 43 176
39T XY mE N 41 48 41 46 176
41 Hf 18 WFEH EBE 44 42 45 46 177
42T #RAR i WFFHEMR LR 47 45 42 44 178
42T ELEN ERNG 42 46 44 46 178
42T XX B— WFEEEE 39 45 50 44 178
ZiE FE FA IFEREF 40 41 - - -
ZiE Ak BE ERNG 41 43 - - -
ZiE EARMt WFE2THEE 46 40 - - -
ZiE a7 8B WY INE| 45 41 - - -
ZiE TR ik IEER3F 41 47 - - -
ZiE EN IFEREF 45 44 - - -
ZiE W BT ENF 43 48 - - -
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BigER [4H26H(XK)
BifEo—X [BEEBLEIILJO—R(EHE) . 6,120Yards*Par72
1HE Hi5% |544

B2 K4 FEHIZI—X ouT IN GROSS

1 AKX B AJ=L1H A 37 39 76
2 EH f158 IFERSF 37 40 77
3T ARG IFERSF 37 41 78
3T SN IFERSF 41 37 78
3T MH F#& T 39 39 78
3T EE & ERNG 37 41 78
T XH ED L EILE 38 41 79
T TiE =i WFETEE 39 40 79
T IMNITTE &1l 39 40 79
10T Al EB =FH/l 40 40 80
10T F+)I B L2EELE 41 39 80
12T RIFEKA WFFHEM 2 E 40 41 81
12T EE FE IFERSF 40 41 81
14T IBR IFE LEELE 40 42 82
14T 5 B IFERSF 41 41 82
14T B =F81U 41 41 82
14T A BIE NG 42 40 82
18T A &= &1l 41 42 83
18T LIEES =F81U 41 42 83
18T WA B\ WFFHEMH 2 E 42 41 83
18T {E% ZI1E B 42 41 83
22T B[S IFERSF 41 43 84
22T Nk A A EILE 41 43 84
22T RS A EILE 41 43 84
227 120 A& INES 44 40 84
227 O o ERNG 44 40 84
22T HO #E IFERSF 41 43 84
22T XX B— WFEH EE 39 45 84
20T EH F= WFFHEM L E 45 40 85
29T INRR i WFETEE 40 45 85
31T HA & WFE T EBE 44 42 86
31T a7 158 WEHZRM L E 45 41 86
31T Ed::lins WFFHEM 2 E 46 40 86
31T iy R win NI VNE] 43 43 86
31T 1k B A—=L142 43 43 86
31T FE EX ERNG 44 42 86
31T EEHMt WFETEE 46 40 86
38T B IEE 2o EILE 41 46 87
38T hE IFERSF 42 45 87
38T I E X WFETEE 44 43 87
38T B)Il 0 WFETEE 43 44 87
38T EXEX AJ=L1H R 45 42 87
43T TR Zih IFERF 41 47 88
43T ELEN L EILE 42 46 88
43T EZ- G IR 42 46 88
46T BA B FHRE 45 44 89
46T S N 41 48 89
48T FE $8X WFFHEM 2 E 43 48 91
48T WF BT ENF 43 48 91
50T —R =4 &1 43 49 92
50T T B IR 50 42 92
50T #RAR i WFFHEMH L E 47 45 92
53T ®Bx NI VNE] 49 44 93
53T fEFxEX IFERSF 46 47 93
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